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kidg;nghUspay; 

juk; - 10 

,uz;lhk; jtizg;guPl;ir – 2025 

tpilfs; 

1 (1) 11 (2) 21 (1) 31 (1) 
2 (4) 12 (4) 22 (3) 32 (4) 
3 (2) 13 (3) 23 (3) 33 (4) 
4 (1) 14 (4) 24 (1) 34 (3) 
5 (1) 15 (4) 25 (1) 35 (1) 
6 (2) 16 (4) 26 (1) 36 (3) 
7 (4) 17 (4) 27 (1) 37 (4) 
8 (3) 18 (4) 28 (2) 38 (1) 
9 (3) 19 (4) 29 (4) 39 (4) 
10 (2) 20 (2) 30 (2) 40 (3) 
 

gFjp ii 

01) 

i) tsu;r;rpg;gUtk;> Kjpu;r;rp gUtk; 

ii)tpl;lkpd; A>C Nghd;w Nghrizrj;Jf;fs; fpilf;fg;ngwy; 
    kyr;rpf;fy; jtpu;f;fg;gly;  

iii)xw;Wik> jiyikj;Jtj;ij Vw;wy;> tpl;LnfhLg;G 

iv)khztupd; tpilf;Nfw;g Gs;sp toq;fTk; 

v)mbg;gil ijay; myq;fhuj;ijay; ,tw;wpd; ngau;fis Fwpg;gply; 

vi)khztupd; tpilf;F Gs;sp toq;fTk; 

vii)jha; je;ij 
     rNfhjud; rNfhjup 
     ghl;b Ngu;j;jp Nghd;wd 
viii)$l;Lf;FLk;gk; 

ix)NghrizngWkhdk;> FLk;g mq;fj;jtu;fspd; Njitfs; 

x)if fhy;fs; Ntfkhf tsu;r;rpailjy; 

  vd;Gfspd; mlu;j;jp                                  (2 10= 20Gs;spfs;)  

2) 
i)capupay; ngsjpf> ,urhad fhuzpfshy; cztpy; Vw;gLk; khw;wq;fs; fhuzkhf 
mt;TzT Efu;Tf;F nghUj;jkw;w epiyf;Fs;shjy; 
 
ii)ePufw;wy; 
    jho;ntg;gk; 
    cau;ntg;gk; 
    ew;fhg;G gjhu;j;jk; ,ly; czT Fwpg;gply; 
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iii)jl;Lg;ghlhd fhyq;fspy; gad;gLj;jg;gly; 
     nghUshjhu ed;ik ngwy; 
     gy;tifj;jd;ik fhzg;gly; 
     tPz; tpuakhjiy jLj;jy;                     (3+3+4=10) 
 
3) i)khg;nghUs; - jhdpaq;fs; 
     ngf;bd; - tpshk;gok; 
     fpisf;Nfh[d; - <uy; 
 
   ii)clYf;F rf;jp toq;fy; 
       clYf;F nfhOg;gkpyq;fis toq;fy; 
       cly; ntg;gepiyia rPuhfg;Ngzy; 
 
  iii) jhtu nfhOg;gkpyq;fs; miwntg;gepiyapy; jputk;> ,uj;jj;jpy; nfhy];l;Nuhy; 
kl;lj;ij mjpfupf;fhJ cjhuzk; Njq;fha; vz;nza; 
 
 tpyq;F nfhOg;gkpyk; miwntg;gepiyapy; jpz;kk; ,uj;jj;jpy; nfhy];l;Nuhy; 
msit mjpfupf;Fk; cjhuzk; ntz;nza; nea;        (3+3+4=10) 
 
 
4) i) kdpj tsk;>                         kdpjdy;yhj tsk; 
   mwpT jpwd; kdg;ghq;F ciog;G        ngsjpf tsk; ngsjPfky;yhj tsk; 
 
  ii) kdpj tsq;fs; - njhopw;gapw;rp> jpwikfs; Nritfs; Nkk;ghL/ 
       kdpjdy;yhj tsq;fs; - kpd;rhuk;> ePu; rpf;fdkhf gad;gLj;jy; 
 
iii)khztupd; tpilf;Nfw;g Gs;sp toq;fTk;                             

                                                (3+3+4=10) 
 
 
5)i)czT $k;gfk;> Nghriz ml;ltiz> 
 
 ii) czT$k;gj;ij tiue;J ngaupl;ly; Gs;sp toq;fTk; 
 
iii)cly;mikg;gpy; mjpf mstpy; mlq;Fk; fdpAg;Gfs; khfdpAg;Gf;fs; vdTk;> rpwpa 
mstpy; mlq;Fk; fdpAg;Gf;fs; mjhtJ 100 kpy;yp fpuhkpYk; Fiwthf Njitg;gLk; 
fdpAg;Gf;fs; 
                                                (3+3+4=10) 
 
 
6)i)ngw;Nwhu; kw;Wk; gps;isfs; md;dpNahd;akhf ,ize;J tpNrlkhd 
nraw;ghLfis nraw;gLj;Jtjw;F Fwpf;Nfhis Nehf;fp nry;tjw;fhf 
xOq;fikf;fg;gl;l myF 
 
ii) ed;ik :- jPu;khdk;  vLj;jy; ,Yf> RahjPdj;jd;ik> 
     jPik :- Raeyj;jd;ik> ghJfhg;G FiwT 



Grade 10 Home Economic Answer  Page 3 of 3 
 

 
iii)md;G> ghJfhg;G> jpUg;jp 
 
                                             (3+3+4=10) 
 
 
7)i) <untg;g rikay;> cyu;ntg;g rikay; Mokhd vz;nza;apy; rikj;jy;  

 ii)jl;by; RLjy;> fpupy; nra;jy;> Nlh];l; nra;jy; 

iii) guty; nrwpT $ba Clfj;jpypUe;J nrwpT Fiwe;j Clfj;jpw;F jpz;k 
Jzpf;iffs; gazpj;jy; 
      Gwg;gpurhuzk; nrwpT $ba Clfj;jpypUe;J nrwpT Fiwe;j Clfj;jpw;F 
jpz;k Jzpf;iffs; gq;$LGftpLk; nkd;rt;tpD}lhf gazpj;jy; 
 
                                            (3+3+4=10) 
 
      


